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1) Qunbp pwdwibyhl, kpk pudwiwpupp 33 E, phph pwinpgp 6,

U

200

dugnpnp 2:
33x6+2=200

2) Qnhp pudwiwpupp, kel pudwiikihi 323 , piph pwinpnp 8,

Ultugnpnp 3:




(323-3):8=40

40

3) Qunbkp nipnutlnibwtthunh swywyp, Ept tpw swihnidubph
ki 2 ud, 5 ud, 2 ud: Spb) vhuygh pduyght dwup:
V=2x5x2=20
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4) P’y wdkiwubs diugnpn Yupnn Eunwgyt) phwlub php
10-h pudwtbjhu:
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5) N'pu E wdbuhnpp phuljut php:
1
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6) Gutip 25000-h 1/5 dwup:
25000:5x1=5000
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1) Quntp 2500-h 4/5 dwup:
2500:5x4=2000

2000

2) Gubkp wdkuwthnpp punwithy pyh b wdktwdbs Enwthy pyh
wnwppbpnipyutt hiquuwwnhlp:
(1.000-999)x5=5

U

3) N'pl E wikbuhnpp qoyq phuljwb phyp:
2

N
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5) Gubtp wdkuwthnpp htiquith? pyh b wdkuwthnpp phuljut pyh
htiquuuwnhljh putnpnp:



10.000:5=2000

U
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6) P’y ph E dinwuyuhb) Untwl, bpk tpu dinuyguwhws phip
thnppugubttip 4 waqud, wpyniuphg hwtktp wdktwdbs tnwtthy

rhip, junwitwip wdktwthnpp ptwjub phip:
(1+999)x4=4000

S

4000

7) N°pb b undbunhnpp Yhinn phwljub php:
1

U

1

8) ﬂppmhnaq Jukdwbw tnwthy phyp, Ept tput dwhuihg
Yguqptlp 6 pywtiywp: \
Ophtwly 567 tnwtihy pyh nhwpnid
6567-567=6000
Swiljugud knwithy pyh nhypnud
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9) Bphnt wplnpnid Jw 30 giquily: Lwih” gl hu wpweht
wplynnud, Epk wnwehtt wplynhg Eplpnpnh dbe nutup 10 gunul,
pul tphpnpnhg wnwehtih Ukg 5 qumuil, wugw Gphnt



wnplnbpnud hwjuwuwp pwbwlnyg quyuljukp §ihukv:

30:2=15
154+5=20
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